42.

43,

4s.

46.

47.

48.
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Statements

The staff of Airport Authorities called off the strike they were observmg in protest agamst
privatization.

The staff of Airport Authormes went on strlke anticipating a threat to their jobs.
A. Statement I is the cause and statement II s its effer

B. Statement II is the cause and statement I is its =ff ..

C. Both the statements I and II are independent causes.

D. Both the statements I and II are effects of independent causes.

T SRS T Hi AT ST TN TS 2

AL ¥y S B. uy3fEa C. <o D. ¥ fgew

T ferfiemt foren 2 et Sferen foreren Siren freTsgeng T Fieae W s & e e :

a. . ey fasm 1. faferm seem

b. WEfds BAR 2. IR AvSH

c. HESHEEES : 3. IRH

4, <cd Sifda

wE a b ¢

A. 2 4 3

B. 1 4 3

C. 2 1 4

D. 12 3
wltmnﬁamﬁmtmmmﬂzm:

WEI e 11

a. FUBEEE™ 1. Bone Marrow

b. TgHHEEM 2. Hfes

c. wHafeEn , 3. ' Pancrease ik

d wg¥E. 4. TN

#Ea b ¢ d

A 1 & 3 4

B. { 2. 4 3.

C, ¢ 1 4 3

o) 1 3 4 -
IS TE TTTATSADY vvvvrverresennnene IAET TS| ' .
A, -y fefa. B. u-vofwfa. C. Ro-¥of&fa. D. % fefa.
In a little-publicised deal, Pepsi, Cola has ...... the entire soft drink market in Afghanistan.
A. " occupied B. conquered C. swallowed D. captured
He ...... in wearing the old fashioned coat in spite of his wife's disapproval.

A insists - R * nercicte ' Adecicte N recicte
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50.

51

52.

53.

54.

55.
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She ...... a brief appearance at the end of party.

A. puton - B. putin C. put across D. putup
AT TR Aiferen! fordren qorm TR FA D 2 G
A. IEEH TR Aifq  B. et fagmaafa e
C. 9= f-aqul THH D. iy ae
AT SRRHT FEENTh! & A 8R 2
A e fawra ' - B. Jirifis forpm frm
C. s qeares faum : D. ufgam gui &=
i TH! TS| dyeH! siel fHeege : :
wEl. - TR
a.'" YoM 1. wefes
b. W& 2. AN TR
c. Wi 3. WRg
d.  AHmiEE 4., NS TR
¥}E a b ¢ d
A. 4 3 1 2
B. 3 4 SN 1Y
C 4 3 1 2
| B I 2 4 1 3
WA T O T A SN TS ?
Which one will replace the question mark ? , '
416 | 3 /8\
6|10 5|4 A
4 |82 2
A. 8 , B 12 C. ‘16 i D. 20
7o fere WA Syt ke g ‘
Arrange the words given below in a meaningful se'quence.
1. Income 2. Status 3. Education 4. Well-being 5. Job
A, 1,2,53,4 B. 1,3,2,5,4 C. ¥3,1,5,2,4 D:>35,1,2,4
o g w=seeas sefgel shaen e : o
Arrange the words given below in a meaningful sequence.
1. Word 2. Paragraph 3.-Sentence
4. Letters 5. Phrase

A 4.1:52.3 B. 45153585, 2 C. 42573 D 4 -3¢5:3 92
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TAET e U I ST Rgwnt faee sugw s s e

Select a suitable figure from the Answer Figures that would replace the question mark (2).

Problem Figures: Answer Figures: St e
1812 Ap ¥4
A . B - © @ 13 @ 3 . @ B5)s

A 2 ‘ B. 1 C: 5 ‘D. 4

WrhT Teriear qeten! g 98 ? *

A. - TSI HRE WO ST UM I M@ B

B. dee! fafos sqawen oo Ugeesh! Seaml Smiia 3|

C. oo fmeem (WferaiTera seeh) H1 Hergweitare fof 7 Jomedt STomses! o |

D. 3mavasa AFaR fguaf fawmm oft serea g1

A W T RIS ? : ,

A W B. MWl - Cc. = D. ZE= ;
TEH! TS A WY T W s TRl 8 2

A fomgasdw . B. famwmama  C qﬁemr«ﬁﬁamﬁ D. frasmemet - -
Llfe is to death as pleasure is to ...... i § o, el
- A. poverty B. suffering C. + ngulsh , D. ﬁain

In the foilowing gu-siions four alternatives are given for the phrase italicised and underlined *
in the sentence. Choose the alternative which best expresses the meaning of pi:«2se.

When he heard that he had once again not been selected he lost heart.

*A.  became desrerate - B. felt sad :

C. became angry - - D. became discouraged

. Synony s of the word AUGUST iS.......uvernneeene & Al

A.- Common B. Ridiculous . C. Dignified "D Petty
............. = Wﬂmmwmmmmzmm,,,...mzﬁram ,,

A. T, &Y B. SMwem,3 . C. wAfsRmsac o D) ¥ fafm, sy
ASEAN %1 3R 3t R 5@ ..ooocovveee M 095 A ... 3 ... T T = A
A. wfem 9,35 B, AW 3§90 C. MR Re,35 D, fEWE, 35, 9
qEHT WA faaR TR

) AU TG WL T TS ATHR IREEH 095 - QOQOWWWWWW
3M) T IR TN TH! FAEHT T §5& T ITH A |
3) mﬁmmmmmtmvﬁﬁaﬁ%ﬁmml

A. (3, (3M §F, (3) T B. (30 *Tm,» (3m =&, (3) e
C. (3, Terd (3m) &, (3) 9t - . D. " (3 &, (3 Teh,(3) T
ferem TR -

) Tt et fmfor TS yaTy Aot - mmmqﬁmmwﬁmmal
am) ammmwmm@mfm

-\ R e A
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A @GN @7 - B. () TR, () T, @) W

C. (30, 7 (3) T, (3) T : D.. (37) ¥&, (3m) 7T, (3) TRl

TS TR T IeAEA T IR U FeRReRT M SeTed TS | 3T HEATR 9234 T 2000 Fhi faHT (
TG HHT ) deteh] e T wga TRU! B : A cosmetic company provides five different products. The
sales of these five products (in lakh number of packs) during 1995 and 2000 are shown in the followmo
bar graph.

Sales (in lakh number of packs) of ﬁve dlfferent products of Cosmetic Company durmg 1995 and

2000

67.

68.

69.

70.

71

7 60 1 o . SN

~

U

& 50 A

K

L 40

=

= " 30

Z

£ 20

" 10.19
£ 590 5.01

W

S 0 -
m : - - - .y .

“ Lipsticks _Nait Talcum Shampeos Conditioners

Enamels Powder

B1995 w2000
3000 1 i forh i reiwe! s W Hi v afe s ?
The sales of lipst'ick,s in 2000 was by what percent more than the sales of nail enamels in
2000? (rounded off to nearest integer)
A. 33% B. 31% C. .28% D. 22%
9]]Y Tt 3000 T R TR G TR SARA TG 2
During the period 1995-2000, the minimum rate of increase in sales is in the case of?
A. Shampoos B. Nail enamels C. Talcum powders D. Lipsticks
421, 1 Pt Y e et TR 0007 iR T e TS TRATEH Bkl A & 2

What is the approximate ratio of the sales of nail enamels in 2000 to the sales of Talcum
powders in 1995?

A. T2 B. 52 C. 43 b: .24

1 ST far 9%y e 000 TEEAT Y¥, Wi e W B ?

The sales have increase by nearly 55% from 1995 to 2000 in the case of?

A. Lipsticks B. Nail enamels C. Talcumpowders D. Shampoos
FUEGTRE! 1334 1 R T 1334 P o v s i FE R 2

The sales of conditioners in 1995 was by what percent less than the sales of shampoos in
1995? (rounded off to nearest integer) ;

A. 57% B. 36% C. -29% - R D ) 25%



73.

785.

76.

77.

78.

79.
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ﬁﬁl‘("ﬁ'@lﬂ

. afv fosra o Heaw @amrfem;
Q. 30 Al Uiy fare s gwe faw )
. TSR] ITHT HROT 00K FIMTE 39 A I T8 w7 |

A Fgfsw B. wifew - . T few D. WM e

- Inter Par! aasw‘mm y Union (IPU) & WIS TR Woman in Polities Hfaag HAFER '-‘ma wfa off
R T § _
A R B. 3¢ C. 3¥% D: =%
?0\3%'51313’1#31'5'@7‘:13»“&@311 g, R00¥/9Y Y WSS IR S feufy wftren wideT
HFHR.......... S T AHEHT W1 B | TR 6 B FHEA WA ....... B

A R, UmfEEE B, ¥ WEIFEFA C. %, W@AEEH D, R0, Jum ¥
"Fire and Fury" 7% J&i&®! 0@ 1 14 ? :
A ARFAITE B. TEarE M C. "EEa 99 D. I=e fae2

in Questibns giver below out of four alier 1atives, choose the one which can be substituted for
the given sentence.

' A sstyle in which a writer makes a display of his knowledge.................

A. Pecartic B. Verbosr C. Pompous V D. Ornate _
In the ollewing questions four alter arives are given for the phrase italicised and underlined
in the sentence. Choose the alternative which best expresses the meaning of phrase

It is no longer easy to strike gold in Shakespeare s research since much work has already
been done on him.

“A. Hita golden spot

B. Come across gold
C.  Come across the word "gold" .
D.  Uncover or find a valuable line of argument or information v

List of the business or subjects to be considered at a meeting is .............
A. Schedule B.  Timetable C. Agenda D.' Plan
et <SR! TR derEt W TR TR - ~

a. e Jva e gigate.20 == weg 51 :
. S & aifies 3ia e gfge ¥ .o TR W B
¢ Iy deen s e 9fige 5.0 TR | B

‘A. a,b®E, cTd B. abIcTATE  C. a,cTELbTAA D. a,b,cTed
. TEITEER I e et T SR T s e THiN 2

AR FEITE (Hi

a.  T. Yoo : 1. . R03¥ 93ME Y
b. %.9000 2. 035 I9ME §¥
c. T.Yo 3. 035 @ Y

d %. 4. 0% TH93




81.

82.

83.

84.

85.
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-®8 a b ¢ d

A 1 2 3 4

B. 3 4 2 s

cC. 4 3 2 1

D% 3 4 1 2
»fﬂamm:!mmmmﬂ@q

a.  WTO I garea 37 wfreiia T e el |

b.  WTO %! "f=rafs geier /R T899 SAEeH 59 |

c. WTO g U dee 0 3t faferisa den e

d. wmwugaw?ﬁmﬁamn

A. a,dEE, b, c W : "B. a,b¥dl, ¢, d 7w
C a,b,c‘t‘l’é,dﬂﬁﬁ D. a,b,d‘v‘l’sﬁ,c'ﬂaﬁ

s sk TR (PPP) ST SR T T O SR S e 2N g W |

A,  AEHEE B. UM C. ¥H D. WieRews

@gmw:ngmmmﬁmmammmm
e dree) v = fa Sen 2

The difference between a two-digit number and the number obtained by mterchangmg tl)e

_ positions of its digits is 36. What is the difference between the two digits of that number?

Acari 3010w : : !
C. 9 D. Cannot be determined

wmmmm Frofrens frma fex fas orgdi

‘Select a figure from amongst the Answer Figures which will continue the same series as

established by the five Problem Figures.

Pt_'pblem Figures: ' _ ~ Answer Figures: B
a ® O O ® O @ @ @ 6
A1 N® B 2° c. 3 D. 4

for X 0 e e et S SUERh foehed Biger
Identify the figure that completes the pattern.

- . | 7
N 7 -
X) (n ) (3) 4)
A 1 - . B. 2 ’ C. 3 D. 4




86.

87.

88.

- 89.

90.

91.
92.
93.

94.
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Tt X ) e AR TR TR 2

Choose the correct mirror image of the given figure (XX} from amongst the four alternatives.

&x 1¥9|:9|29| 59

X) (1) @ (3) (4)
) B 22 C. 3 D. 4
e X Rudm e R TR 2

Choose the correct water image of the given figure (X) from amongst the four alternatives.

A N -2

(3) |
A. 1 B. 2 3 D. 4
Four Pillar of Good Governancem BT EWW?
A, IR, SETwEfEd, STETGE, FrES U '
B. UK&Fd, STATwledr, TR, ST FhT AT
C. = arwafea, THFa], iheiol, & 7 A
D. el qRERiA, SErhfed], HIgTH v
mmzmmwmmmm mmmﬁ ........

S|

A TITH B. anmwaaﬁ‘w .C. o am B qzc—cmiw
AT W SR UNEA TR T g9 YE 9 9/ 99 2
A EanwFwEiasngy 0 B. T | ¥R Ge&A g

- C. U=farE R S S T W e D, Uied 99 TeEfy Y a¥e g

A. atlbAEATWE B, cIIWHAEE C..abicHA ¥ D. b,cld AXTE
HoTeTeh! WiaER! e SR i gRan TR 9 aes! HE # 8RA 2

A TEEST B.W@nHAT

C. WA * D. I wifHen a9 9 SR g

In the following questions choose the word which is the exact OPPOSITE of the given words.
STRINGENT

A. General B. Vehement " C. Lenient D. Magnanimous

Pick up the one which is most nearly the same in meaning as the word printer in bold, Itallc
and can replaces it without altering the meaning of the sentence

The visitor had a bohemian look. -

A. hostile B. ‘unconventional' C. sinister ' D. unfriendly
A name adopted by an author in his writings is............... i

A. Nickname B. Pseudonym C.. Nomenclature D. Title -
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96.

97.

98.
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o & : mqﬁmwm e
a. ThIEN T ST STRE 1. 97 005 ‘ i. gFad
b. ST q/ I1. T 3008 ' ii. fegam
c. TR /e L 5 003 : iii. HITgg
d. 9 IRl . IV.E9R5G - iv. 3

A.  alVi, blllii, clTii, dliv " B. aliv, bllii, cIlii, dLVi

C. aliv, bllii, clIlii, dIVi - " D. alliv, bllL, cIVii, dliii

- ! YA R ER e '

L IR W GTETel U1 S e 24 3FE 33°% AITHT SEvaE U |
I feemeawiafcsmeagiaeissar

M. ST T80 ATEl T Seareah! enf 9o °c 2@ 9y°c auey TavTF 51
V. mﬁ@mﬁm@wﬁn\me Mission FHHT FoA091 S |

A. L IL I 9@, IV T B. LT, I, 1V e
C. LILIVEE, 1l Tem D. LIV, Il 981, 1 7Tefd
mmmm@mmw

a. wam—;@aaﬁmﬁmaa,am.m b.  THI — AHER], STIEMT, HerEE

¢. T — 9 49, v d. . IR — TOEIEHIS, B, o]
A, a.b¥E ¢ dTeE : B, a b.¢ @ dTeM
‘C.  a.b.dT& ¢ T D h.d T€ ¢ ToE

mmmmmww@wmmn

Select a suitable figure from the four alternatives that would complete the figure matrix.
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100.
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X 71 feguw ghigeare 9,3, 1 ¥ We) g o oo e T
Find out which of the figures (1), (2), (3) and. (4) can be formed from the pleces given in
figure (X). : ¢

W HE
: ) {1 (2) (35 )

A -1 : B w98 G 3 D

o X Y e TR fret ot T TR

Select the figure which satisfies the same conditions of placement of the dots as in Figure-X.

S

[ Answ [ Expalnation
er | i '
| Key e )
'4_:—7 . BBp.  J4B 5D B i
- _+_ A 1 5. ped - i

S iuo on multiplying 2 and adding 1 to get the next number
54 3; is wrong. -

D. (l ! I ) 3
‘g +Q+R)Slhour\\vulk =\s*71n* 12/= 120
[ | : [ 37 37
| Work done by P, Qand R in 2 hours = 13052 = 60
i ( 23
—x
! Remaining work = { |- 607 T 60
(
| i ; l 1 ti
i |(Q R)\lhmus\\ml\— 003 S0
.\\“n‘-- (18] \\"_”\ I~ dore s (“ RGIE IS F
1
T i ? |
S R “\m.lh done b U K o foors Y hours !

il e £t CAND e around 1 PIM
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=6%

100x3000)
Rt ( 125004 ) %

25 C. |Originally, let the number of boys and girls in the college be 7x and 8x respectively.
Their increased number is (120% of 7x) and (110% of 8x).
120 (110
= (100 X 7x) and (100 X SX)
42x  d4x
s
. The required ratio-= (42x : 44x) =21 :22
26 B. |Let C.P.beRs. x and S.P. be Rs. y. ‘
Then, 3(y-x)=Q2y-x) = y=2x
Profit=Rs. (y - x) =Rs. (2x - x) = Rs. x.
~. Profit % = ( X 100)% =100%
27 C. |Clearly, the numbers which have 1 or 9 in the unit's digit, have squares that end in the
digit 1. Such numbers from 1 to 70 are 1, 9, 11, 19, 21, 29, 31, 39, 41, 49, 51, 59, 61, 69.
Number of such number =14 :
14
.. Required percentage = (7—0' X 100) % =20%
28 A. |The father of the boy's uncle — the grandfather of the boy and daughter of the
: " | grandfather — sister of father. .
29 | ¢ {30B [31D [32D [33D [34C [35A [36A [37A |38.C
39-| B. |Clearly,2x3=6,6x3=18,18x3=54,....
So, the series is a G.P. 1nwh1cha 2, 1=3.
Therefore 8th term = ar™! = ar’ =2.x 3’ = (2 x 2187) = 4374,
40 B.- 1st letter : A—Gpe_s; M_’f_. i,y )
2nd letter : ZibT—.G—-) N—ib®j—§ B
41 C. |As Omlthologlst is a specmhst of Blrds similarly Archealogist is a specialist of
Archealogy. y
42 D. | Both the statements I and II are effects of mdependent causes. ;
43 | D |44A Tasc J46B [47D [48B  [49B [50D |[51.D [52.B
53 | C. |(4x6)%3=8
6x10)%5=12
(4x8)%2=16.
54 L :
55 D. |The correct order is : .
Letters | Word Phrase Sentence Paragraph
4 1 5 3 2
56 The figure gets laterally inverted. ‘

57

58.C [s9.c JeoD [61.D [e2.Cc [63.C |64.C |65.A: [66.C
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%, 48.17 ?7 76 ’
5 C Requlred percemaoe = [( 3‘?2 100]
= 27.57% '
= 28%.
68 |A
69..1B. o - 3716 o
Required ratio = 1497~ 25= 2
70 D. The percentage increase from 1995 to 2000 for various products are:
: 20 ook (487 - 20.15) ] .
Lipsticks 7—[ 20.15 x 100 % —.139.06%
; 37.76 - 4.93
Nail enamels = [g‘—“g‘g—{—) X 100]% =536.76%.
(29.14 - 14.97
Talcum powders :l: 124.97 ):x 1}00 To = 94.66%
12.21-7.88
Shampoos = [Q—Wl X 100}% =54.95% = 55%
‘ (10.19-501) - :
Conditioners,:\(‘(I—O-SW—2 X 100:|% =103.39%
74 b 7.88 -5.01
. B . | Required percentage = [g—,/'é‘g—) X 100:|% -
=36.42% :
: : : = 36%
72 B |13.c [74.B [75.A [16A [77.D [18.Cc [79B [80D [81.B [82B
83 |B. Let the ten's digit be x and unit's digit be y.
Then, (10x +y) - (10y + x) =
= 9x-y)=36
= x-y=4.
84 D. The figure gets laterally inverted and vertically inverted altern. tely.
8 |C. z&
N/
86 |B. ’
87 - |B. 5
88 |A [89B  [90A [91.D [92.c. [93B [94B [95.4 [o6C [97.A
98 A. The number of components in each row €ither increases or decreases from left to right. In
the third row, it increases.
99 |E&. ‘
100 |A. In fig. (X), one of the dots lies in the square alone, another dot lies in the triangle alone

and the third dot lies in the region common to the circle and the square. In fig. (2) there

"|is no region that lies in the square alone, in fig. (3) there is no region that lies in the

triangle alone and in fig. (4) there is no region that lies in the region common to the

circle and the square only. Only fig. (1) consists of all the three types of regions.
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oQoaoao

aa

a

L8 TN v [ 6 R O |

a Qo

mmm (Queen of spice): Hﬁiﬁ (Black cardamom)
|ty : 79 () 9Eeh! Hifes fafg

TR TR : e I Rt Feramsromn! afiT Sz T Geen e,
TR T : Y] T et T ek o ot s,

FCR (Feed Conversion Ratio in Poultry Production) : 3= faeic = r wgamv qum G
Jesa fafa i

A : fermg sofo e st =g Aifes

et A : YA W GHEEH] T HE "EH TEE, 30 Sfqq yufed 9 | 36E qfEenh) e gn

TRHT q 1 R T WAL, R 91 ¥ T HRA Fese A 41, Hﬁﬂﬁmaﬁiaﬁm@m
TGF T&-90 SR TS THIEEHT AEA! A9 el &5 |

Tunnel Boring Machine = TBM : faesie a1 Tifwa @=t | #7 frel &=, 5 17 | e
et T2 N 8 sgegvd™ aREsEE TBM ¥ 1R 5 |

o WI9STE 7€ (Electric Crimetorium): fogedr wfafiame vaer ™ = wfafer Fure wfgel yeh
At AR e W (SIS | T TR B -

AT A HROIR : ST ST W] HRIR (F.4. qwq 1 wenfue)

TRt UfEel el HRATR : THIGE (37e) B 1 SRR

mmmw<mmmﬁmwmwm
Blue chip: &% A a1 S S9H] &1 GATHIEA : Jiafsd se ! S
AREA G YT TSN TS ¢ FATy Todd

R AR T ST : T He

Death Zone : TTRHIEHI ¥,000 fiFeX AT 91T S STRIGUIHT S 961 Sifeel Wiies,
‘2 fafrm” ‘= 3 fSifram” =it 31eae s R SFISS |

wardt o ofe e se : oo e e B
Hﬁ}m g form v, wué?aﬁmfwmn@é

‘é?ﬂmma-——rm TS

HF : mmwmmmmm@mmwm% AT
s |

AHAT G DT

a

=
S
1

T - . Q0us, ST FEEre
T oy 7Y fHeAT 1 gepwerHyl fEm e ¢ ATETE A fe o v
A S0vo I MR 94 Yol as 91 UOa7 SR Jied T ST A

'é;,;;ff'f—’; ST TATITIITS Y 3y :

TRTE A9 ¥R
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AT 20 B} IPARID] GO Answer Key 3

L | ®®O0 [2 [@OO® |51 |E®OD]|716. |®@®O® "
2 |®@®O® | 2. |®®O® |52 |[OBCO| 7. | ®®O®
3. | ®O®00 |28 |[O®OD| 5 |[AEBOO| 8. | OB®OO®
L. 1O®ODO |2 |O®OD| 4 [W®OD| . [{A®O®
5. |0®O0 | % @00 5 [0®00 | % |[®®e0
6. |[HEOD |31 [OO®CD | 5% | ABRDOD| 8. | @®O@©®
" 0000 |2 |00 ]| 0000 # |8eo®
. |®®OD® |33 |[®EOD| 8 |A®OD®|83 |A®OD
il (QICICIOf Bl ISICICIC) A ISICICION R SR IIOICIN)
1. @E®OD |35 || 0. | ®O® |85 | AEOO
I [@®OD | 3. |[@®CH | 6. [A@®OD | 8. | 450D |.
12 [@®O0 7 [0Bcn]| 2 |dB0F |%. |60
1B |AO®OD | 38 |V Lea | O®OC | ss. _@®©®
1 | A®O®@ [ 3. [0 Diles | 3OOG] 8. | APO®
15 |[A®O® [ 0. [ o ¢ 5. OB®OD] % | A®OD
16. (QBO® |41 [WICTD [ 6o [EOO® ! 9. [®@O®
17 [E®OD |2 b ] e |00 |2 |Ae00
|13 [ABDOO | ¥ iz;L,E_ B OBOOD % 10000
19, [N OO0l Ch e [YBCD U | OB®OD
BTG S ARG % | 000D
~1 -;L" B @D | 46, |\ SR N D 96 | (B0
¥ TRE t —‘—3_ B 97. | (BED
R Y IR AR S
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laza.ar \

o= §c : 29 (Set 21)

ﬁzmmmm

I T SAHE G3L0K00 T ARE B 1

I IHarE SifvRg JeErR ufb wfes | :
. o Tl i T srefern TeRve goes |
IV mﬁwmmmhﬁn

A LIS, ILIVed 4 B. L II I &&, IV 7ed

C. LW, ILIViea - D. ILHEE, LIV

TR SRR FereR e

mmwmmmau

FTETEeRT T AR fa=en! ~gaa g YL TEE B 1

| IHA AR fe HETRE TF YR - - '
ﬁmwmmaﬁmmw m:aﬁéﬁwgm :

oo P

A. abcHidTE B. a,bd¥dcTEE C. b,c,dﬂéam D.

St FeTeger - | .
sifiperTn! 72 [SIEUES
fegorn et I

a0 o
oW R =

.bo.w?'%’

I
N = W N e
T N N -7

N N N
AW N W

a,b,c,dTeE
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mﬂmﬁmm mmmmmmwmgmmm
T 5% Fesrees! warg 9 : '

Choose the picture that would go in the empty box so that the two bottom pictures are
related in the same way as the top two-are related. ;

58| 0
B
2¢ @\

(1) S
A 1 B2 vl e D. 4
mﬁs@%mﬁwmﬁmmmﬁmﬁﬁzml

Select a figure from amongst the Answer Figures which w111 continue the same series as
established by the five Problem Flgures

Problem thures Answer thures
# oA O ofa oF :
© < @ ¢
_ols aln ofs ofs
(A) (B)‘ © D)
A 1 : B. 2 , €:.
Tt Regent e <gysiees! S<en T wmege |

Find the number of quadrilaterals in the given figure.

A6 | B, 7 c. 9 _ ‘D'.‘u"»'
e Tegeent fasmn o Yamees! S T eRTR |

Find the minimum number of stralght lines required.to make the given figure.
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ﬁtaﬁanaaa: )
TEl TRl
1. ratEE aw a Tavas gl iR @
2. TwRfenae b. TR TERYH! FAHRT T e
3. et A c. SR MERS! WA gl Al
4. dwmaE 4 o wiv g8 T
1234 '
d €. b é
d »c -a b
ab die
b~ .a b ¢
e 1 Vg 11 e s Rres e,
Wl wE
re TR S 30 SFEd /Y5

1
2

e T S T WA 3. 99N

et TR g 4

€ a b ¢ d

PRy IR B 1

| e T 1 2

s 2 3 4

D. 4 1 .- 209 &

TR 1T 11 fre e Premegd .
wElL TRl

a. Threreel 1. geae 3
b. gl 2. WFARIW A
c. g 3. I¥I

d. 9w 4. WHRT
¥} a b ¢ d :
A3 1 2

B. 3 £ 2 1

4 . G et

™ A ~ ~n 1



11.

12.

"mvﬁlamm

A e - SR
C. Toamm feradt — wfaw
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B, HEARIHE — JAY
D. '€ ARTVE — Mgt sTfTemt

- W I EE 1 foa st sy 2
wEl - : : wEl . -
a. TEYYH A [ IR 1. e forsm fare
b.  HIYYH G GTEHR T84 2. HIAHS EH
c. TN USRI @R URY 3. i IeA
d. TEAYTH IR W TERR YR 4. SeFdied S
#}E a.- b ¢ d
A -4 i3 g 1
i SR e &
€ . -l iieny g g
Dro0 4 R

Question No (13-17) based on the following: passage

He saw nothing, he had no knife or sharp instrument, the grating of the window was of iron and he had
too often assured himself of its solidity. His furniture consisted of a bed, a chair, a table, a pail, and a jug.
The bed had iron clamps, but they were screwed to the wall and it would have required a screwdriver to.

take them off.

Dantes had but one resource which was to break the Jjug and with one of the sharp fragments attack the
wall. He left the jug fall on the floor and it broke in pieces. He concealed two or three of the sharpest
fragments in his bed, leaving the rest on the floor. The breaking of the jug was too, natural an accident to .
excite suspicion, and next morning gaoler went grumblingly to fetch another, without giving himself the

- trouble to remove the fragments. Dantes heard joyfully the key grate in the lock as guard departed. ;

13.

14.
15.
16.

17.

- Dantes was in
A. ahostel < B. adining room

- C:. anarmy barracks D. aprison

Dantes heard the key grate in the lock when the

A. cell door was shit

C. storeroom was opened

The guard left the fragments because he
A.  didn't notice them _

C. wastoo lazy to bother

Dantes probably broke the jug

A.- in the morning

C. after breakfast

Dantes was planning to

.A. carve his name

C  tease the cuard

B. cell door was opened
~ D. storeroom was shut

'B.  wished to punish Dantes
D. wanted Dantes to clear up

B. during the night
D. atexdctly 3pm

B. make his escape
D) oall far hraal-fact 4 "-



18.

19.

20.

21.

22,
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mﬂmmmmmmmmmmmmmw

. O Sui e St S e g SR TR

W, < Ui 9y SR Aare faga Seed ™

S mwmmmwmrahmmwﬁ

A A B. ®WH  C. ®I D, AR S
fafir Saa < i aAfae 51 e e S 2 : LRy o
a. G — §9 b. I — TR c. ooy - RS - d. R — FH
A. ab B. b,c C .ibd D. ad
ﬁﬁmmtm%mﬁamﬁaﬁaﬁq ' '
TRl il (4
a W 1 Y
b. IR 2. TRE
c. WM 3. HEHAYR
d. @RS 4. TEE
FE a2 b £
v i e e LA B
B  AREL B
C." 4 3  ET
D: 2 3 4 picH 2
T 1 T HE 11 forer ey Prremrager T Hieae wt ST S TR
wEl , - el
Y 3f@ 9 7= 2 1. E19%¥s fedmw
e G i AHR 2. fad. 3008
T fererRent fasasardt Son 3. TEurferet
Eekatiert i3 4.  HME AHHR
a b [ d
3 4 1 1
® 4 2 2
4 3 PR
2 3 4 2

A, rERR B. Sw@fiE@ | C. w@edft D, W



23.

25.

26.

27.
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mmmzmm@mm

A, Huifre wftyeene Wi fradmaet 9

B. mmmmmmm :

C. U SERER Wiea frmee safm

D. wfafafy g faea frammeet awmsm | -
mmWﬁmmmm\mmm@m

A. AT SifeRre wfauE, 2094 . B. e dfaum, 098,
C. ¥ sifesge! dfaym, ove D. AU Hfaum
Tz Fogened s v v g @ 2

Choose the figure which is different from the rest.

DINCVICE

(1) @ 3 @ & .
A 1 ‘ ' A C. 3 _§ D. 4

=g mmmﬁwﬁt mm«?mmﬁmﬁmml

Three positions of a dice are given. Based on them find out which number is found opposnte

the number 2 in the given cube
€ S )
A. 6 B. 5 C. 3 D. 1

Tt X o1 YR FEe SR B 1 AR E SR TN ES 2
Choose the box that is similar to the box formed from the given sheet of paper (X).
o

PO e 00

)

T A land20nly' B. 2and4only o 2 and 3 only . .D. 1 and 4 only

a1 fagu! Feeeetd TS eE T 2% T R T A St i TR |

Group th§ given figures into. three classes using each figure only once.

CLIA A

28 o)

A 14:;23:56 B. 15 ;k2,6 : 473 C. 16:23:45 D.M12:36:45
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B of i i T @ - aﬁﬁmmmmm«amm
ELIGEIRIELIEE o) - TRASI

A wgafiqee B, @ EEM . C [, 990 D. T, 999
AT S TR T 5 e & R TR - : ” =
F. wR - faere - fEear 00 - fEf '

| Siga - - arRfeE o AEl - w3 fnfy

T U -SeeYd . - Tomew v Aw - R« A v

A wHrEfss B. wWinfs® c. swufsds - D. uumwdfes
wuwnﬁammmwmmm N Y
e I TSMPT - e 11 e (Re.fin)

a. TSRS AEAT : 1. queg

b. A= reEn 2. IN

c. EIRHIY TSR : : 3. Y

4. wuiehTeEE ‘ "4

R"SH v '

From the given alternatwes, choose the one which best expresses the given sentence in
« * Indirect speech. !

The little girl said to her mother, "Did the sun rise in the East?"
A. The little girl said to her mother that the sun rose in the East.
B. The little girl asked her mother if the sun rose in the East.

C. The little girl said to her mother if the sun rises in the East.

D. The little girl asked her mother if the sun is in the East.

Pick out the best one which can coniplete ilicomplete stem correctly and meaningfully.

With great efforts his son succeeded in convincing him not to donate his entire wealth to an
orphanage ...... !

A. and lead the life of a wealthy merchant
B. but to a home for the forsaken children
C. and make an orphan of himself
D

as the orphanage needed a lot of donations

-



35.

36.

37.

38.

39.

40.

The act of violaﬁihg the sanctity of the church is
" B. Heresy.

A. Blashphemy

A

T

Sacrilege

334

D. Desecration -

This, partly, explains how the Mehta family has been able to ...... its lavish lifestyle in recent

times, despite the fact that all its assets have been

A. keep, removed
C. develop, liquidated

T S R TR :

1. WWF %1 TIT9AT 989 AT HTH a1 |

B.

D. keep up, destroyed

oooooo

afford, attached

. WWE 31 JF $raied Sisieames) Saum s | :
3. WWE i &drim 3fE 9ol sig= e 9, gaaﬁwqﬁqwl

nmwamrﬁaﬁg/mv

A 1TH2T37EW B, 2@@3W4T@E C.
%mﬁmn#ms%wmw}ﬁim?.

A, WwRE B. uR- C. @
mwm:mmmmm
I TR
5ty 1. 900 @ 3¥00
ST 2. ¥ 9300 .
|ET 3. 3000 3fF Yooo fA.
Hewe . 4. oo 3fgqyoo fi. .

e
a
b
C
d
#}E a b ¢ 4
A
B
c
D

113‘83'1 2 TTerd

'D. 1,298 2 7Ea

D. =

Select a suitable figare from'the four alternatives that would complete the figure matrix.

e

! <
> (9] 2
] £V
Yo @ 3

#*
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ﬁax'ﬁmmmwml :

Choose the correct mirror image of the given figure (X) from amongst the. four alternatives. -

NIRDIINPAbE

LA (D700 0 (8 hictas i oasin
Al Bii:2 : Coo3i il ol o
X S e T i

Identify the figure that completes the pattern.

QV&W

: , B Yali i 'C 3, LY D'. 4
Siferer fafasraman wdwem €. 3. faewre == e fy

1.
2. Sifes fafauam feag R A=)

3 qwﬁmwmwaﬁwﬁaﬁmmm

4. Sifes Tafawam feame svenfern favad wi o d .

A 1,29 3,4 7E@ ' B. 1,2,3Wd47em@

C. 1,3.49812 7 § D. 1,2,3,4W9%Wd
mmmzmmmmm :

Rl ‘ RN

a. STl wRfET & : 1. R

b.  HooeeEn Wik@ & 2w N
c.  HARY Hifd & 3. dRigE

d.  HOMER wfEa & 4. W@

S a b c d

& 2 3 1 4

oW 13 24

I T R LR

Py S g



46.

47.

48

49.

50.

51.
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ﬁwﬁmmmmﬂ*‘mﬂm %‘fsﬂﬁmmm 3 faw wnftt wem
T = 2 :

A.  Theory of Relativity ; ‘ B. E=Mc’

C. ~ Quantum Analaysis D. Photo~elecmc Effects

o= forsa! e Sfaesr 714 e S g ?

A e Ed B, EUER C. ¥R FRS D. my e wfeaa

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete 4

The machine is difficult to build ...... easy to maintain. : _
A. but B. and C. for D. if

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete

If you work beyond your capacxty, you will naturally feel ......
A. drowsy B. tired - C. confident D. giddy

Pick out the most effective word from the given words to fill in the blank to make the
sentence meaningfully complete. :

If you persists in telling lies to me I shall sue you ...... slander.
A. to B. on C. - for D. with

In the following questions four alternatives are given for the phrase italicised and underlined
in the sentence. Choose the alternative which best expresses the meaning of phrase.

Sobhraj could be easily arrested because the police were tipped off in a advance,

A. Toppled over : B. Bribed

C. Given advance information * D. Threatened
TR 1 LT 11 et e geig ieeie 9@l 3w sHe TR |

Rl . wEI

a. Tagae foa 1. 3cHe MR
b. anfawrres faa 2. IS UHad
¢ wNeaRs fagr 3. TR%d GRS

d. fawm 4, 999 Ted ufeEA
F}E a b ¢ d

A4 3 2 1

B2 3 1 2

& 3 4 .1 2

D. 3 4° 2 1
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mmamaﬂﬁanﬂjm

1. mﬁuuﬁamammwmﬁmsﬁ%wn

2. yfastraTy Sufugeen! W@ ws! WAt ST $1 yfas e 1 ‘

3. WMMWEWWWWWWW ma‘%‘n
Y ST FATFA TN A/ T 2 ‘ _

A. 1,2339F - B. 1329 C. 273WH D. 133°m

A fgu! Alwers sreaga TR ae Dt Teees! ST RGEAR (X3- 1)
| i R ot e R A Sw

The Numbers in the Brackets give the Maxnmum Marks in Each Subject.

Subject (Max. Marks)
Student | Maths Chemistry | Physics Geography "Histor‘y. Computér Science
(150) (130) (120) - (100) (60) 40)
Ram . 9 50 90 60 70 80
Hari 100 - 80 80 40 80 70
Sajal 90 60 70 70 90 70
Nabin 80 65 80 80 60 60
Dipson 80 65 85 95 50 . 90
Basudev | 70 75 65 85 40 60
Tarun 65" 35, 50 77 80 - 80
53, w& @ fremefieeet Sfawwree slva s sfad 2
What are the average marks obtamed by all the seven students in Physics? (rounded off to
two digit after decimal)
A. 77.26 B. 89.14 C. 91.37 ere D. 96.11
54. w et mwmmmwma ?
The number of students who obtained 60 % and ‘gboyemarks in all subjects is?
A 1 . B:o i _::C""3 D. None
5. TR Rmm @ smsRss @m0 '
What was the aggregate of marks obtained by Sajahn alkthe six subjects?
A. 409 B. 419 : ' 'C_. 429 D. 449
56. wﬁmaaﬁmmaéﬁwmqﬁmﬁv :
In which subject is the overall percentage the best? : . -
A. Maths B. Chemistry C. Physics D. History
57. %0 ! rva wiewa SR 2 ' -

What is the overall percentage of Tarun?
A 5259 - B 559% C 60% D 639%
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59.

60.

e ¢

L6

63.

64.

65.

66.
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Find the wrong number in the series ?

| 445,221, 109, 46, 25, 11,4

) e B. 109 ‘ ¢ A6 D25 .

TS e o AP e ol R .4 YR S R TR e i g 2

In a shower, 5 cm of rain falls. The volume of water that falls on 1.5 hectares of ground is:

A. 75cum B. 750cum C. 7500cu.m D. 75000 cu.m
ARFUH T T T T LY AR e g %ﬁw@mﬁa qﬁawa‘mﬁr ¥y fpeifirex

- WS B WA T Soe Fid w A @)
- Excluding stoppages, the speed of a bus is 54 kmph and including stoppages, it is 45 kmph

For how many minutes does the bus stop per hour?

A 6 : B. 10 C. 12 D. 20
m@mmﬂmmmmmWa}m :
A THRRR B. seud C. e © D. fav
ST SR HEe T 2

A, Tocew sFUE AuesH B. SO WM I

C. 3w am ¥ D. e e
AR AR Forea 3T Tt TR A 2 _

A. Tozam! e v g : B. & Tl THe

C. o T o art st D. e wa

mmmmﬁmmm@.
mtmﬁamﬁ@ammﬁmm%vﬁwmw@az

1
‘_3. YT A TN FAE! A AE g |
4

. Yoo it WWWWRGOW@WW@I
TR Y A TR B/ B2

A 1,2T 39 ES B. 2,3T4HFTE
C.- 1,234 9 : D. 23749 T

g TR R e T 5 T YRR R AR D) 2 :

A R B. e C. o3 D. 95 &

* In questions given below out of four alternatives, choose the one which can be substituted for
" the given sentence.

Leave or remove from a place considered dangerous

*A. Evade B. Evucuate C. Avoid D. Exterminate



67.

68.

69.

70.

71.

72.

73.

74
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Pick up the one which is most nearly the same in meaning as the word printer in bold, Italic,
underline and can replaces it without altering the meaning of the sentence.

In spite of their efforts, the team of scxentlsts could not make much headwaz to solve the
problem. :

A. prouress i B. thinking . C. efforts D. start
In the followmg questions choose the word which is the exact OPPOSITE of the given words
REVEALED '

Al . Denfed-: " "= ‘B, Cbncealéd . C. Ignored D Overlooked
TR, ¥ TR TR o) S FRUH] AR TSR AR T v Hiee R 2
A, R06YSEB9] ‘B.  R0o6Y B ¥ C. 094 SEIF D. 004\
ann‘qﬁamﬁaﬁm@mﬂzmn

a. TOENEAM el 1. W=TER MER T SR

b, wE@Em 3 2. R e T e
P g _ 3. AR SR T e

d. -STERd 9ieg : 4. TR HifHen 1 feE

®E a b ¢ 4

et S e M

{: R B e R

C 74T ARl .

> MEREY SO WO e

R N FHUS (Watergale Scandsl) 5 TR g T Wﬁqaa ?

A. o= faamea B. faEfmm = c ffisx Dsﬁfé@g&r
wmmmﬂowmwmmmﬂiﬁt?éﬁﬂﬁ@ﬂmﬁﬂ%ﬁﬁﬂ

- P! g & fa B ?

The price of 10 chalrs is equal to that of 4 tables. The price of 15 chairs and 2 tables together
is Rs. 4000. The total prlce of 12 chairs and 3 tables is:

A. Rs.3500 y @O B. Rs.3750 C. :Rs.3840- - . D. Rs. 3900
AzBﬁnmtmoalwﬁAﬁﬁuﬁn ST B H Y B WO A B wratqmﬁww
B ?

A and B together have Rs. 1210 If 15 of A's amount is equal to %‘ of B's afnount, how much

amount does B have? ;
A. Rs. 460 B. Rs.484 . C. Rs.550 D. 'Rs. 664

T A I AR YT AR SfeEe FE F aRa g e 2
A. I, wme, fefafeg, s=atam B. m@mﬁﬁ’fﬁﬁ—aﬁmﬁm

C. FmE e, Fenfa, frefafm D. TS, FEnf, e, fefaes



75.

76.

7.

78.

79:

80.

- 81.

82.
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m@m@hwﬁﬂﬁwnm ......... A wmmm
................... (mmm)ﬁrmﬂﬁ@ﬁm

A&, R0, IfH o arefem B. 19,9899, mmm

C. -, 9’0, fufeers 37 sr=fern © D, %, 9%90, FHAATY A e

mmmmtmmmWWﬁs@mwatwaﬁﬁm
e vt forea e THRN |

 TRw : ' _ TEE

&) FErHE g ;. , 3.

am e o : 3. I

3) it -

3) - o fiwda g Y. TAEe

A R,IRAN,T : B. M, IMR A
S C M, Y, R D. N, IR, K N

In the following questions choose the word which is the exact Slmllar of the given words
 ADVERSITY :

A. Failure B. Helplessness C. Misfortune D. Crisis

In questions given below out of four alternatives, choose the one which can be substituted for
the given sentence.

A prima facie case is such’

A. Asitseems at first sight

B. As it is made to seem at first sight

C. - As it turns out to be at.the end

D. As it seems to the court after a number of hearings

FRAE fEAeEs gve A e ARSI AR 2 .

A, 08Y IS 45-30 B. R08Y S 9R-0
C. RoSY IF9R-39 D. R0y W& q9-9%
fireardh e Rl el R o) R S TR B

A, TW®WYFR  B. ITI,WRKR C. <, I D.. m@m

%. ST FEA WS T T 004 HT WTH A
W I R & T T T FIH] WA T
7. ¥RA 9 A R T W

A sUEREE B. wmy@Efew - c. wuAfs® ‘D; T4 o -

AT FIR 2

Odd man out
6,9, 15,21, 24,28, 30

A 28 B. 21 o C 24 BOATE
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84.

85.

87.
88.

89.

90.

91,
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S o 7 4% T P T o, 93 e g ek e W 4:9:R 9 S Bredar s

Wi ST T 143 9D WA S verefend v B i et 2

Tea worth Rs. 126 per kg and Rs. 135 per kg are mixed with a third. variety in the ratio
1:1:2. If the mixture is worth Rs. 153 per kg, the price of the third vanety per kg will be:

A. Rs. 169.50 B. Rs. 170 C. Rs.175.50 D. Rs. 180

3005 S § F1 AFTER ot 7Y R090 ST § 1S R ford g 2 '

It was Sunday on Jan 1, 2006. What was the day of the week Jan 1, 2010?

A. Sunday B. Saturday . C. Friday D.  Wednesday
Statement: ""You are hereby appointed as a programmer with a prdbation period of one year

-and your performance will be reviewed at the end of the period for confirmation." - A line in

an appointment letter.

Assumptlons :

The performance of an mdmdual generally is not known at the time of appointment offer.
Generally an individual tries to prove his worth in the probation period. -

A. Only assumption T is implicit ‘B. BothIand II are implicit
C. EitherIor Il is implicit - D. Neither I nor Il is 1mp11c1t
0¥ @mmwmm@mmmm ?
A. FHTHT B. WHIAR . C. To=gl D. o@
VRITeh! SH RYMHIe Fer AT SO TR S 5 & 2. i
A wE - B. feum c. fommet D.
S [0 0¥/ BY, TR R HoRT WA HH Robl RAGAR 2 4
A TR B. WAL CC. wyHR D. WuAY
A person pretending to be somebody he is not.................... :
A. Magician B. Rogue C. Liar . ° D. Imposter
Sirer fireme wé faeq BFgeR| : P
TR & ST TR @ = T
&) AhR 9. WEAREA
M e . yFa e
7). AR 3. YT
%) ¥, wudw
%, oerE i

AN ¥ F
A R 9 R LS
B. R 3 LS 9
CWR ¥ ' 3
1 N e L SR
St STt frmior e TR 4 2
A, wefR fig et B. fwdm

C. &dt AR It D. sEferfaae -
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94.

95.

96.

97.

98.

99.
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............. Y SUAALD! TIHT D GEHG T -vvvvvvrn. T HACAT 1A TRCDY TR |

A. I, 98%0 B.. ST, 9’%9

C. AT 9%%0 D. SemR, 9339 ,
A W _ - B. feum ;

C. wiTs . D w=n

- Statements: Death keeps no calendar.

Conclusions: ,
i.  Man must die one day.
ii. Death can come at any time.

A. Only conclusion I follows - B. Only conclusion 11 follows

C. EitherTorII follows = - A D_.» Both I and II'follow_

T ST Sug BT Al g TR | : ‘4

36,34,30, 28,24, ... : : P

A 20 B 2h : G D %
ﬂzm(spmwystem)ﬁﬁaaﬁmmﬁmﬁmmv i *
A. dfegaeen B. .USHIfa - C. WeSfsyeEa D, Tifie fEr
mmmzmmmmmmﬁmwmu

R F ' RS

3) qﬁwwﬁwz@ : §. =Y

& S SR W

3 WEE AR R WgE

%) W HEAFTUSH N IHME :

A AW, RN B R, Y,

C. 3R,M 7, : ‘DA, AR RN

AT T WU A SR e feeae ST ot orie e 1

Select a suitable figure from the Answer Figures that would replace the questlon mark (?). -

Problem Fi, igures: : Answer Figures:
AOIN] 7]  [DIOIBIOM,
A B (© (D) m @ @ “4) (5)

A 1 ' B =2 G523 . D. 4

Statement: The weather bureau has through a recent bulletin forecast heavy rainfall during the
next week which may cause water looomﬂ in several parts of the city.

Courses of Action:
The bulletin should be given wide publicity through the mass medla

The civic authority should keep in readiness the pumpmo system for remova] of water ﬁom thzse
parts. ‘

PPN SO T SRR g g = K et E g e R D el o Cun iR e e 50 o B
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A. None follows 5 " B. OnlyIandII follow

~ C. . Only II follows D. Only II and ITI follow
100.  Treh! fersr Sriee! UEe o R TR |

Count the number of squares in the given figure.

' A1 ' . et '
Q.No. |Answer Ekp]anation :
. |Key
1 C ZA J3A ]
|4 A. Hand is to ring as head is to cap. A ring is worn on a person’s hand; a cap is worn on a
person's head. : 3
5 A.
The symbols move in the sequence {2 "¢} in the first: step. In each subsequent step,
the symbols move in the sequence obtained by rotating the previous sequence through
90°CW. Also, in each step, the symbol that reaches the encircled position gets
replaced by a new one. :
6 D. The figure may be labelled as shown.
: g gl 08 :
F £ ; ; :
The quadrilaterals in the figure are ABCD, ABDE, ABDF, ABDH, CDHA, CDEA,
CDFA, DEAG, DEFA, FAGD and AGDH.
The number of quadrilaterals.in the figure is 11.
1 = B The figure may be labelled as shown.
T y K o
A L 8
F 5
HM G - a :
1) 3 C
The horizontal lines are IK, AB, HG and DC i.e. 4 in number.
" | The vertical lines are AD, EH, JM, FG and BCi.e. 5 in number.
The slanting lines are IE, JE, JF, KF, DE, DH, FC and GC i.c. 8 is number.
Thus, thereare 4 +5 +8 =17 straight lines in the figure.
8 At 0l9A 10.B (11.D 12.A 13.D 14.D 15.C 16.B
t17. B 18D |19.C |20.A 21.A 22D 23.C 24.C
BS A. All other figures can be rotated into each other.
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26 A. e, e
27 CL The fig. (X) is similar to the Form VI. So, when a cube is formed by folding the sheet
shown in fig. (X), then E is one of the faces of the cube. However, the cube in fig.
(1) has two such faces and fig. (4) has a face which is completely shaded. So, these
two cubes cannot be formed. Hence, only the cubes in figures (2) and (3) can be
formed.
28 A. (1, 4), (2, 3) and (5, 6) are three different péirs of identical figures.
29 C 3131.C 32.D 33B 34.C 35C 36.D 37.C 38.D
0
D
39 C
40 1C. The third figure in each row comprises of the parts common to the first two figures.
41 D.
142 D.
43 |D 24C [45D [46B  |47A [48B [49C [s0C [51C |52
53 B. Average marks obtained in Physics by all the seven students
' ;
=7X [(90% of 120) + (80% of 120) + (70% of 120) + (80% of 120) + (80% of 120)
|+ (65% of 120) + (50% of 120)] -
1 :
=X [(90 + 80 + 70 + 80 + 85 + 65 + 50)% of 120]
1
=7 X [520% of 120]
_624
-7
=89.14 ,
54 B. From the table it is clear that Sajal and Rohit have 60% or more marks in each of the
: six subjects. ¢
55 D. Aggregate marks obtained by Sajal
’ = [ (90% of 150) + (60% of 130) + (70% of 120) + (70% of 100) + (90% of 60)
+ (70% of 40)]
=[135+78+84+70+54+28 ]
=449.
56 A. We shall find the overall percentage (for all the seven students) with respect to each

subject.

The overall percentage for any subject is equal to the average of percentages obtamcd
by all the seven students since the maximum marks for any subject is the same for all
the students.
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Therefore, overall percentage for:
. . 1
(1) Maths = [7)( (90 + 100 + 90 + 80 + 80 + 70 + 65)]%
= [‘1‘ 575:]‘7
=|7x o
=82.14%.
(ii) Chemistry = [% x (50 + 80 + 60 + 65 + 65 + 75 + 35)] %
| Lol
=|7x o
=61.43%..
(iii) Physics = [‘.17 (90 + 80+ 70 + 80 + 85 + 65 + 50‘)]%
= Ii% X (520)]%
=74.29%
(iv) Geography = [7;' x (60 +40 +70 + 80 +95 + 85 + 77)]%

= B x (507)]%
=72.43%
(v) History = B x (70 + 80 + 90 + 60 + 50 + 40 + 80)]%
= B x (470)]%
= 67.14%

(vi) Comp. Science = ['71' x (80 + 70 + 70 + 60 + 90 + 60 + 80)]%

1
= [:,‘ x (5 10)]%
_ =72.86%.
Clearly, this percentage is highest for Maths.

57

Aggregate marks obtained by Tarun
=[ (65% of 150) + (35% of 130) + (50% of 120) -
+ ((77% of 100) + (80% of 60) + (80% of 40)]
=[975+455+60+77+48 +32]
=360. '
The maximum marks (of all the six subjects)
= (150 + 130 + 120 + 100 + 60 + 40)
= 600. :

0
. Overall percentage of Tarun = (%(636 X 100)% = 60%
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. 126 + 135
So their average price = Rs. (_“2—— =Rs. 130.50

158 Cs Go on subtracting 3 and dividing the result by 2 to obtain the next number.
Clearly, 46 is wrong.
59 B. - | 1 hectare = 10,000 m’
So, Area = (l 5 x 10000) m* = 15000 m>.
L
i 100"‘ 20 ,
1 "
. Volume = (Area x Depth) = (15000x Ed)m3 =750m’
60 B. Due to stoppages, it covers 9 km less.
Time taken to cover 9 km = (ggz X 60) min = 10 min .
61 |A 62.C (63D [64C [65D [66B |67.A ]683 l69.B [70A ]7113
72 D. Let the cost of a chair and that of a table be Rs, x and Rs. y respectwely
S
Then, 10x =4yory= 27X
-, 15x + 2y = 4000
= 15x+2x%x=4000
= 20x=4000
o x=200.
(5
So,y= (Ex 200) = 500.
Hence, the cost of 12 chairs and 3 tables = 12x + 3y
~ =Rs. (2400 + 1500)
: = Rs. 3900.
73 B. 4 2
15A=3B
=a=(3x 45)5
3
=A=3B
L
A3
9B "2
= AB=3:2
g 2
. B's share = k1210 X ‘5‘) =Rs. 484.
74 [D 75D |16A [17¢ [18A [79.A 80. B 81.D
82 A. " |Each of the numbers except 28, is a multiple of 3.
83 C. Since first and second varieties are mixed in equal proportions.






